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Part 1 GnapniNc Car,curarons

Use the graphing calculators to graph each of the image equations Fill in the

RULE
For the general function V = f(x):

y = af(x) a > 1 , vertical stretch by factor a
y = af(x) 0 < a < 1 , verticale*rptene'tenbyfactor a
y = f(bx) b > '1, horizontal eaffiecEio{a by factor 1/b
y = f(bx) 0 < b < 1, horizontal stretch by factor 1/b

descriotion' column of the fol hart:
Basic Graph lmaqe Description of Transformation

Y=x ' \ / Y= 2x ' Vsxz
Y=x'L/ ,= 12x)" t-rs " $y=  xo  

/
Y = / ,x "  +2 , l ? )

t lS*!- ,  /vv. ' i ts vQ.
y=lx l 'yZ v=  l3x+61'V= ' l  

z l r l+ i \ l r-\: ** , Z vn",*-\ l"!+.
Y=x- Lt Y,=-tYb:l:);\\' lA3 \Z t  l  un i *s  r ' reh t

f=d3x+3 LIs .( + , I un* lelJr .
y=lxl+ y =2lx+31 -2

VSx Z / 3 ..,''i+s I'e-4-f - 2 vn,*s da,t

Part 2 MappiNc Nornrion
Fill in the mapping Notation for each of the curves:

Basic Graph lmage Mappino Notation
Y=x ' Y= 2x '

[*,:) -> (x, zj) '
Y=x ' ,= 12x)' &, y) -z (1* ,3)
Y= x" Y= ' / rxo+2 L*,y)t (x,*J*)
y=lx l y= l3x+61 (*,r) -7 e'(-2 t J>
Y=x ' y  =  (Tzx -2 ) '

[*,r) '> (z**H, y)
Y={x y={gx+3 L",y) -> (***r ,3)
y=lx l y  =2lx+31 -2 L*,3\ -) (u-3, z.-z)


